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0 220l 50,000& = 3% = 123 1,800
307 glz2tol & 20,000 10,000 10,000
11T AISISAAISEE = 20,000 0 20,000
0 HEZE0I2IX HHLISOI(8AMICH) 20,000
SHRERIIE JHHE=,&8E3H XAl 97,600 59,690 37,910
= 78,080
< 9,760
i 9,760
301 L2 AF 97,600 59,690 37,910
= 78,080
< 9,760
[ia 9,760
01 A E&E E 563 97,600 59,690 37,910
0 &22IE JHL=FH X 92,400
= 73,920
= 9,240
s 9,240
0 8221 JHEEZEH X2 4,600
= 3,680
< 460
[ia 460
0 etRZ2IE L= 600
= 480
< 60
s 60
OE2nsield 4,600 4,600 0
< 1,380
s 3,220
301 L2 A3 4,600 4,600 0
< 1,380
i 3,220
01 A3l EE E 6l = 4,600 4,600 0
0 SM0IE: &AFA=s 22|
1,000,000& * 1AICH 1,000
< 300
s 700
0 0IE20tE Hg=ddl A&
1,200,000& * 1MICH 1,200
< 360
s 840
00IE20tE Ma=2xd &
50,000& = 4MITH * 128 2,400
= 720
s 1,680
Ch2stots Y2 UsAY 85,840 85,840 0
J| 60,088
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6,996
18,756

)
e
e
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S

EUNLY

80,000
56,000

6,520
17,480

80,000

04 J12tHI

S

EUNL

80,000
80,000

56,000
6,520
17,480

80,000

201 €er2

S

UL

5,840
4,088

476
1,276

5,840

01 At 2

03 A2

0 Ct23ItE 2 uSsAE

50,000& = 10

S~

EUNE

50,000& » 103

[o
08
S H <

EUNL

1,000
1,000
500

350

41
109
500
350

41
109

4,840
4,840

3,388
394
1,058

1,000

4,840

=]
O
2
0x
1o
=

il
1
e
o
H0
02

M A

7,200
3,600
1,800
1,800

7,200

307 21201 &

Mo A

7,200
3,600
1,800
1,800

7,200

1A SXAIE 2 =

0 0ts.

Aot X Al 2 (10 &Hl)

R

7,200

7,200
3,600
1,800
1,800

M

7,800

3,900
3,900

7,800

7,800

7,800

_43_




LIS
RS E=F
CoATSIEs ZROBT

e

fon

SRR
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2
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3,900
3,900

MIIEtEY =

o EMA HedE

0 BAXNSLXNADIHER HeAxE)

o BAX HAEE=S

=

200,000& » 38 = 12E

M

100,000& 3 = 23

M

7,800
7,800

7,200
3,600
3,600
600
300
300

7,800

33,000

33,000

33,000

33,000

g%l—/\H %I—g_%t” Xl_o‘:

2 (55%)

50,000% = 559 = 12&

33,000

33,000

33,000

OtOIS =201 X&AY

MW

424,495
297,147
38,222
89,126

424,495

307 21201 A

MW

424,495
297,147
38,222
89,126

424,495

A S XA E X

0 0t0lS= K& A (60F)

MW

424,495
424,495

297,147
38,222
89,126

[m]
Ho
\ﬂ
N
I
P
{0
=
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Ho
09
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o

S

M

140,730
98,511
11,470
30,749

140,730

S

M

97,000
67,900

7,906
21,194

97,000

04 JIANZ22XSE*

0 Gt tE X HE SAX 2121H](4Y)

S

UL

97,000

97,000
67,900

7,906
21,194

97,000

S

Mo

39,730
27,811
3,238
8,681

30,730
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S
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S
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3,600
2,520
293
787
1,000
700
82
218
1,500
1,050
122
328

900
630

73

197
2,000
1,400
163
437
30,730
21,730
15,211
1,771
4,748
9,000
6,300
734
1,966

9,000

21,730

9,000

301

e
T
HT
0z
oy

S

UL

2,000
1,400
163
437

11,000

A9,000
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09 & At
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=
HI
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5
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=
Y
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18]
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]
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x
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S

SUNE
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2,000
1,400
163
437
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405 At&tE S HI

S
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2,000
1,400
163
437

2,000

01 AL =ESHSH

2,000

2,000

2,000
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437
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25,095
58,555

172,500
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40,000
12,000
28,000

80,000

04 DIt 22 XS+

0 HAZIMERJHE HH(3)

MW

80,000

80,000
40,000
12,000
28,000

80,000
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2
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T
Ho

HH W

63,500
31,750

9,525
22,225

50,700

03

oz
>
0

02
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o AE

H0 02
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300,000& » 12&

Mo

100,000& * 122

MW

125,000& = 12&

MW

100,000& * 122

MR

AUEDM HH 25,000& » 100%

HH A

&=

Mo A

10,000
10,000

3,600
1,800
540
1,260
1,200
600
180
420
1,500
750
225
525
1,200
600
180
420
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1,250
375
875
53,500

53,500
26,750

8,025
18,725
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Cel: ANISIEA T2IUNY UL AALS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 5,900
= 1,770
= 4,130
09 HAIAHI BEAZ 4,000 4,000 0
0 A2AJE XHEH 29 (2008) 4,000
= 2,000
& 600
= 1,400
11 JIEtE A= 7,800 25,800 A 18,000
0 HAJA XNHEH SANA =&XH 7,800
o EANA AHBEXRSE
200,000& = 3™ * 12& 7,200
= 3,600
= 1,080
= 2,520
o EAMNAN BE2HdLH
100,000€ * 3% «* 23| 600
=2 300
= 90
= 210
307 QI2t0| & 10,000 10,000 0
= 5,000
&< 1,500
iy 3,500
11T A EXAIEEX 10,000 0 10,000
0 HA2UJE ZE2 (24 A 10,000
= 5,000
& 1,500
= 3,500
405 XHAHF S HI 2,000 2,000 0
= 1,000
= 300
= 700
01 AL 2 Z F S| 2,000 2,000 0
0 A2 3¢ 2,000
= 1,000
o=} 300
= 700
HAEZE0|CANZ2EFAEXNHA 10,000 10,000 0
301 et A= 10,000 10,000 0
11 J|EtE A2 10,000 10,000 0
0 HHdZ2=012X 2HFSKA 10,000
JIEZS 29X 2 TOolA XA 480 480 0
2 240
= 240
301 et A= 480 480 0
= 240
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1,440
1,152
86
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1,440
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86
202
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86
202

Ch2tETE d0ZEEeXE

S
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29,456
20,619

2,651
6,186

°
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S
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27,696
19,387

2,493
5,816
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27,696
27,696
19,387
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5,816
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02
=

N

Mo

1,760
1,232
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370
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o
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+
0
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0
=
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0r0
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0
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MADE
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EURLY
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720
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504
65
151
1,040

1,040
728
93
219
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Cel: ANISIEA T2IUNY UL AALS (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ChE3NESRNJLEH SAL =X 10,400 10,400 0
< 5,200
e 5,200
301 et d s 10,400 10,400 0
< 5,200
s 5,200
MIIEEd= 10,400 10,400 0
0 BAX HABESY
200,000 = 4% = 123 9,600
< 4,800
e 4,800
0 SAKH FE2A244E  100,0008 * 48 « 23] 800
= 400
s 400
SIRR2ItE ItH W=sHl X 13,300 13,300 0
< 3,990
[ia 9,310
307 21201 A 13,300 13,300 0
< 3,990
[ia 9,310
11T MISXASEEX 13,300 0 13,300
0 SR 2IIE NHEHWEH XA (72Y) 13,300
< 3,990
s 9,310
NSRS EES= 8,650 8,650 0
307 gl2tol & 8,650 8,650 0
1 ASIZX AR E 8,650 0 8,650
0 GIRSINESHER SSLEA(HEHHE Y
3l) 8,650
Ol . (A EXFAN 2SE LAY 2,055 2,910 A 855
= 1,028
s 1,027
307 21201 A 2,055 2,910 A 855
= 1,028
s 1,027
11T AL SXAEE X 2,055 0 2,055
0 OFSoHEXE B4 (5MM4) 2,055
= 1,028
e 1,027
Z20/2X SEHAXJAY 14,172 14,172 0
J| 9,920
= 1,259
s 2,993
101 @124 dl 13,372 13,372 0
J| 9,360
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2,818

04 DIt Z22XSE*
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9,360
1,194
2,818
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560
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175

800

01 At 22l bl
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O
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560

65
175
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Ol Xt T2 IS XJHE

M H

12,000
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8,400

10,000

2,000

101 14l

EUNLY

12,000

3,600
8,400

10,000

2,000

EUNE

12,000
12,000

3,600
8,400

10,000

2,000

N

EUE

58,230
40,761

5,241
12,228

58,230

201 LBt2 |

S

VY

52,230
36,561

4,701
10,968

52,230

S

M H

52,230
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36,561
4,701
10,968

52,230

401 AIEHIZ 2 THYI

S

M

3,000
2,100
270
630

3,000

Il

3,000
3,000
2,000
1,400

3,000
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L= B
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S R ER-T il HlnE2
04 2N2EY 4,200 4,200 0
0 BM2E 350,000& = 123 4,200
Heags(=asxn) 1,251,046 750,148 500,898
HEHAHXES(=L= 1,251,046 750, 148 500,898
LHEHeH X = 551,046 550, 148 898
701 JIEtSl H S 551,046 550, 148 898
01 JIEtSI A& 551,046 550, 148 898
0 d=2=02I SELE3H M= 551,046
ABIZXSE IS 700,000 200,000 500,000
702 JIS3HES 700,000 200,000 500,000
M II2dE3 700,000 200,000 500,000
0 AMt3I=TX 100,000
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0 At2IEX S 3 853 (Ma =
) 100,000
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